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 Individual Test –Theta Division

1. Which of the following is equivalent to 
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 if 0 < a < b, and only positive exponents are allowed?

A) 
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B) 1
C) 
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E) NOTA 

2. Solve for x:  
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E) NOTA 

3. Find the area, in square centimeters, of a parallelogram that has sides measuring 5 cm and 10 cm and a height measuring 6 cm.


A) 50
B) 40
C) 60
D) 48
E) NOTA 

4. Solve for a if m is not 0:  
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A) 9
B) 12
C) 4
D) 2
E) NOTA 

5. How many real values of x satisfy 
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A) 0
B) 2
C) 3
D) 1
E) NOTA 

6.  The sides of a right triangle have lengths (x-y), (x+y), and x, where x > y > 0.  Find the ratio of x to y.

A) 4:2
B) 1:4
C) 2:4
D) 4:1
E) NOTA 

7. The segment joining (0,0) and (4,3) is rotated about the x-axis forming the lateral surface of a cone.  Find the lateral surface area of this cone.

A) 15(
B) 12(
C) 16(
D) 9(
E) NOTA 

8.  A right triangle has a 5-cm leg and a 13-cm hypotenuse.  What is the length of the other leg, in centimeters?

A) 
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B) 12
C) 
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D) 144
E) NOTA 

9. Find the pattern and supply the missing number:  1, 64, 243, 256, 125, ______, 7, 1 

A) 1
B) 100
C) 36
D) 96
E) NOTA 

10.  If x + y = 5 and 
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A) 4
B) 10
C) 6
D) 8
E) NOTA 

11. Which of the following is equivalent to 
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 if no division by 0 occurs?

A) c + d
B) 
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C) - (c – d)
D) - (c + d) 
E) NOTA 

12.  If A = 
[image: image17.wmf]242

121

346

-

éù

êú

-

êú

êú

-

ëû
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A) 1
B) 2
C) 0
D) 6
E) NOTA 

13. A line intersects the x-axis at a 45( angle.  What is its slope?

A) (1
B) (
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E) NOTA 

14. What are the coordinates of the center of the circle whose equation is 
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A) (1,-4)
B) (-1,-4)
C) (-1,4)
D) (1,4)
E) NOTA 

15. Which of the following is equivalent to 
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A) 4
B) 
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C) 
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E) NOTA 

16.  The base of a rectangle is three times its height and its  area is 27 square meters.  What is its perimeter?

A) 3 m
B) 6 m
C) 12 m
D) 24 m
E) NOTA 

17. If 4x – y = 10 and 4x + y = 12, evaluate 
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A) -2
B) 2
C) 22
D) 120
E) NOTA 

18.  Evaluate the sum:  
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A) 
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E) NOTA 

19. A line with slope of 
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 goes through the point (4,3).  If (- 4, k) is another point on the line, what is the value of k?

A) -5
B) 5
C) 1
D) -1
E) NOTA 

20.  Which of the following is equivalent to 
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B) 
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C) 
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E) NOTA 

21. The area of a square and the area of a circle are equal.  Which of the following statements are true?

I.  The perimeter of the square is larger than the circumference of the circle.
II.  The length of a side of the square is larger than the radius of the circle.
III.  The perimeter of the square and the circumference of the circle are equal.

A) I only
B) II only
C) III only
D) I & II only
E) NOTA 

22.  Solve for x:  
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A) 
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C) 
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E) NOTA 

23. When Toni cashed her paycheck, she put one- fourth of what she earned into her savings account.  She then spent one-third of what she had left to pay her rent and $30 on food.  If she had $120 left over, how many dollars was Toni's paycheck for?

A) $500
B) $275
C) $300
D) $650
E) NOTA 

24.  If a = 256, evaluate
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A) 8
B) 64
C) 128
D) 256
E) NOTA 

25. If the length of a rectangle is increased by 
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%, by what percent must its width be decreased for the area to remain the same?

A) 
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B) 50
C) 25
D) 20
E) NOTA 

26. Solve for x:  
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B) 2
C) -2, 
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D) 2, 
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E) NOTA 

27. A right triangle has sides of lengths 5, 10, and 5x - 1.  Which of the following could be a value for x?

A) 
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C) 
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E) NOTA 

28. How many distinguishable 11-letter patterns can be formed using the letters in "Chattanooga"?

A) 39,916,800
B) 1,663,200
C) 3,326,400
D) 3,628,800
E) NOTA

29.  The sides of a triangle are 5 cm, 6 cm, and 9 cm.  What is the area of the triangle, in square centimeters?

A) 15
B) 
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C) 27
D) 
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E) NOTA

30. In the diagram shown, AC=15 and BE=6, m( ACB = 30(,  and m( ECD = 45([image: image1.wmf]ab
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B) 
[image: image59.wmf]7.5662

+


C) 
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E) NOTA  
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